PowerStream - Bill Impacts (Monthly Consumption) 875

875 \$0.050 \$0.058 800 \$0.058 \$0.067

| | | | | April 1, 2005 | | | | | | Ī |
|------------------|-------------|-----------------------------|-------|---------------|--------------------|-------|-------------------------------------|--------------|--------------------|----------|
| Rate Zone | Class | Charge Description | | Rates | Monthly Bill | | May 1/06 Nov 1/06 revised for | Monthly Bill | Increase | Increase |
| | | | | | at Current rate | | Markham,RH Vaughan | at new rates | ¢ | % |
| Aurora | Residential | Service Charge | 1 | \$12.8300 | \$12.83 | 1 | \$14.1800 | \$14.18 | \$1.35 | 76 |
| | 1000 kWh | Distribution Charge | 1,000 | \$0.0157 | \$15.73 | 1,000 | \$0.0178 | \$17.81 | \$2.08 | |
| | | Regulatory Asset Rate Rider | 1,000 | \$0.0041 | \$4.13 | 1,000 | \$0.0051 | \$5.10 | \$0.97 | |
| | | Network Charge | 1,051 | \$0.0061 | \$6.41 | 1,064 | \$0.0061 | \$6.49 | \$0.08 | |
| | | Connection Charge | 1,051 | \$0.0053 | \$5.57 | 1,064 | \$0.0053 | \$5.64 | \$0.07 | |
| | | Electricity Charge | 1,051 | | \$53.93 | 1,064 | | \$64.08 | \$10.15 | |
| | | Wholesale Market Charge | 1,051 | \$0.0062 | \$6.51 | 1,064 | \$0.0062 | \$6.60 | \$0.08 | |
| | | Debt Retirement Charge | 1,000 | \$0.0070 | \$7.00 | 1,000 | \$0.0070 | \$7.00 | \$0.00 | |
| | | Total Loss Factor | | 1.0506 | | | 1.0639 | | | |
| | | Total without GST | | | \$112.11 | | | \$126.90 | \$14.78 | 13.2% |
| Markham | Residential | Service Charge | 1 | \$12.1900 | \$12.19 | | \$11.0000 | \$11.00 | -\$1.19 | |
| | 1000 kWh | Distribution Charge | 1,000 | \$0.0142 | \$14.25 | 1,000 | \$0.0127 | \$12.69 | -\$1.56 | |
| | | Regulatory Asset Rate Rider | 1,000 | \$0.0020 | \$2.02 | | -\$0.0007 | -\$0.70 | -\$2.72 | |
| | | Network Charge | 1,031 | \$0.0059 | \$6.08 | 1,039 | \$0.0059 | \$6.13 | \$0.05 | |
| | | Connection Charge | 1,031 | \$0.0027 | \$2.78 | | \$0.0027 | \$2.81 | \$0.02 | |
| | | Electricity Charge | 1,031 | | \$52.82 | 1,039 | | \$62.43 | \$9.61 | |
| | | Wholesale Market Charge | 1,031 | \$0.0062 | \$6.39 | , | \$0.0062 | \$6.44 | \$0.05 | |
| | | Debt Retirement Charge | 1,000 | \$0.00700 | \$7.00 | 1,000 | \$0.00700 | \$7.00 | \$0.00 | |
| | | Total Loss Factor | | 1.0313 | | | 1.0393 | | | |
| D: I | | Total without GST | | | \$103.54 | | | \$107.80 | \$4.26 | 4.1% |
| Richmond Hill | Residential | Service Charge | 1 | \$14.2900 | \$14.29 | 1 | \$12.9900 | \$12.99 | -\$1.30 | |
| ' ' ' ' ' | 1000 kWh | Distribution Charge | 1,000 | \$0.0163 | \$14.29 \$16.27 | 1,000 | \$0.0147 | \$14.70 | -\$1.57 | |
| | 1000 KVVII | Regulatory Asset Rate Rider | 1,000 | \$0.0103 | \$1.74 | 1,000 | -\$0.0010 | -\$0.97 | -\$1.37 -\$2.71 | |
| | | Network Charge | 1,035 | \$0.0059 | \$6.10 | | \$0.0059 | \$6.13 | \$0.03 | |
| | | Connection Charge | 1,035 | \$0.0027 | \$2.79 | 1,039 | \$0.0027 | \$2.81 | \$0.01 | |
| | | Electricity Charge | 1,035 | ψ0.0027 | \$53.00 | 1,039 | ψ0.0027 | \$62.43 | \$9.43 | |
| | | Wholesale Market Charge | 1,035 | \$0.0062 | \$6.41 | 1,039 | \$0.0062 | \$6.44 | \$0.03 | |
| | | Debt Retirement Charge | 1,000 | \$0.00700 | \$7.00 | 1,000 | \$0.00700 | \$7.00 | \$0.00 | |
| | | Total Loss Factor | ., | 1.0345 | ***** | ., | 1.0393 | ****** | ***** | |
| | | Total without GST | | | \$107.61 | | | \$111.53 | \$3.92 | 3.6% |
| Vaughan | Residential | Service Charge | 1 | \$11.8900 | \$11.89 | 1 | \$11.8000 | \$11.80 | -\$0.09 | |
| | 1000 kWh | Distribution Charge | 1,000 | \$0.0111 | \$11.06 | 1,000 | \$0.0111 | \$11.06 | \$0.00 | |
| | | Regulatory Asset Rate Rider | 1,000 | -\$0.0006 | -\$0.57 | 1,000 | -\$0.0017 | -\$1.69 | -\$1.12 | |
| | | Network Charge | 1,037 | \$0.0059 | \$6.12 | | \$0.0059 | \$6.13 | \$0.02 | |
| | | Connection Charge | 1,037 | \$0.0027 | \$2.80 | | \$0.0027 | \$2.81 | \$0.01 | |
| 1 | | Electricity Charge | 1,037 | | \$53.13 | 1,039 | | \$62.43 | \$9.30 | |
| | | Wholesale Market Charge | 1,037 | \$0.0062 | \$6.43 | 1,039 | \$0.0062 | \$6.44 | \$0.02 | |
| | | Debt Retirement Charge | 1,000 | \$0.00700 | \$7.00 | 1,000 | \$0.00700 | \$7.00 | \$0.00 | |
| | | Total Loss Factor | | 1.0367 | | | 1.0393 | | | |
| Ì | 1 | Total without GST | | | \$97.85 | | | \$105.98 | \$8.13 | 8.3% |

| La | lo | 10 : 01 | 1 | #00.0000 | # 00.00 | 1 . | #00 0000 | 1 400.00 | 1 04.001 | 1 |
|----------|-------------------------|-------------------------|-------|-----------------|----------------|-------|-----------------|----------|----------|--------|
| Aurora | General Service < 50 kW | Service Charge | 1 | \$30.6800 | | | \$32.6600 | · · | | |
| | 2000 kWh | Distribution Charge | 2,000 | | | | \$0.0138 | | \$2.92 | |
| | | Natural Observa | 2,000 | | | | \$0.0039 | | | |
| | | Network Charge | 2,101 | \$0.0055 | | , | \$0.0055 | \$11.70 | | |
| | | Connection Charge | 2,101 | \$0.0048 | | 2,128 | \$0.0048 | | \$0.13 | |
| | | Electricity Charge | 2,101 | \$0.0580 | | 2,128 | # 0.0000 | \$135.81 | \$19.94 | |
| | | Wholesale Market Charge | 2,101 | \$0.0062 | | | \$0.0062 | | | |
| | | Debt Retirement Charge | 2,000 | | | 2,000 | \$0.00700 | \$14.00 | \$0.00 | |
| | | Total Loss Factor | | 1.0506 | | | 1.0639 | | 20100 | 40.00/ |
| | 10 10 1 501111 | Total without GST | | **** | \$228.07 | | A00 5000 | \$252.89 | | 10.9% |
| Markham | General Service < 50 kW | Service Charge | 1 | \$31.2100 | | 1 | \$28.5300 | \$28.53 | | |
| | 2000 kWh | Distribution Charge | 2,000 | | | | \$0.0089 | | -\$1.51 | |
| | | | 2,000 | | | | -\$0.0012 | -\$2.33 | | |
| | | Network Charge | 2,063 | \$0.0054 | | 2,079 | \$0.0054 | \$11.22 | \$0.09 | |
| | | Connection Charge | 2,063 | | | | \$0.0025 | \$5.20 | \$0.04 | |
| | | Electricity Charge | 2,063 | | | | | \$132.51 | \$18.88 | |
| | | Wholesale Market Charge | 2,063 | | , , | | \$0.0062 | | \$0.10 | |
| | | Debt Retirement Charge | 2,000 | | | 2,000 | \$0.00700 | \$14.00 | \$0.00 | |
| | | Total Loss Factor | | 1.0313 | | | 1.0393 | | | |
| | | Total without GST | | | \$207.77 | | | \$219.72 | \$11.95 | 5.8% |
| Richmond | | | | | | | | | | |
| Hill | General Service < 50 kW | Service Charge | 1 | \$36.5400 | * | | \$33.2800 | \$33.28 | | |
| | 2000 kWh | Distribution Charge | 2,000 | \$0.0136 | , , | | \$0.0125 | \$24.94 | -\$2.26 | |
| | | | 2,000 | | | 2,000 | -\$0.0003 | -\$0.58 | | |
| | | Network Charge | 2,069 | | | 2,079 | \$0.0054 | \$11.22 | \$0.05 | |
| | | Connection Charge | 2,069 | | | , | \$0.0025 | \$5.20 | \$0.02 | |
| | | Electricity Charge | 2,069 | | | | | \$132.51 | \$18.51 | |
| | | Wholesale Market Charge | 2,069 | \$0.0062 | | 2,079 | \$0.0062 | \$12.89 | \$0.06 | |
| | | Debt Retirement Charge | 2,000 | | | 2,000 | \$0.00700 | \$14.00 | \$0.00 | |
| | | Total Loss Factor | | 1.0345 | | | 1.0393 | | | |
| | | Total without GST | | | \$221.78 | | | \$233.46 | | 5.3% |
| Vaughan | General Service < 50 kW | Service Charge | 1 | \$28.7700 | | 1 | \$28.1300 | \$28.13 | -\$0.64 | |
| | 2000 kWh | Distribution Charge | 2,000 | | | 2,000 | \$0.0142 | | -\$0.50 | |
| | | | 2,000 | | | 2,000 | -\$0.0022 | -\$4.44 | -\$3.17 | |
| | | Network Charge | 2,073 | | | | \$0.0054 | \$11.22 | \$0.03 | |
| | | Connection Charge | 2,073 | | | | \$0.0025 | \$5.20 | \$0.01 | |
| | | Electricity Charge | 2,073 | | * - | , | | \$132.51 | \$18.25 | |
| | | Wholesale Market Charge | 2,073 | | | | \$0.0062 | | \$0.03 | |
| | | Debt Retirement Charge | 2,000 | | \$14.00 | 2,000 | \$0.00700 | | \$0.00 | |
| | | Total Loss Factor | | 1.0367 | | | 1.0393 | | | |
| | | Total without GST | | | \$213.93 | | | \$227.94 | \$14.01 | 6.6% |

| Aurora | General Service > 50 kW | Service Charge | 1 | \$194.4900 | \$194.49 | 1 | \$209.3800 | \$209.38 | \$14.89 | |
|-----------|----------------------------|---|-----------|--------------|--------------|-----------|--------------|--------------------------|---------------|-------|
| | non TOU (< 1500 kW) | Distribution Charge | 200 | \$2.0262 | \$405.23 | 200 | \$2.5204 | \$504.09 | \$98.86 | |
| | 200 kW and 100,000 kWh | Regulatory Asset Rate Rider | 200 | \$1.6336 | \$326.73 | 200 | \$1.3376 | \$267.52 | -\$59.21 | |
| | | Network Charge | 200 | \$2.2720 | \$454.40 | 200 | \$2.2720 | \$454.40 | \$0.00 | |
| | | Connection Charge | 200 | \$1.9763 | \$395.26 | 200 | \$1.9763 | \$395.26 | \$0.00 | |
| | | Electricity Charge | 105,061 | \$0.0584 | \$6,135.54 | 106,389 | \$0.0584 | \$6,213.11 | \$77.57 | |
| | | Wholesale Market Charge | 105,061 | \$0.0062 | \$651.38 | 106,389 | \$0.0062 | \$659.61 | \$8.24 | |
| | | Debt Retirement Charge | 100,000 | \$0.00700 | \$700.00 | 100,000 | \$0.00700 | \$700.00 | \$0.00 | |
| | | Total Loss Factor | | 1.0506 | | | 1.0639 | | | |
| | | Total without GST | | | \$9,263.03 | | | \$9,403.38 | \$140.35 | 1.5% |
| Markham | General Service > 50 kW | Service Charge | 1 | \$359.1000 | \$359.10 | 1 | \$319.5500 | \$319.55 | -\$39.55 | |
| | non TOU (< 1500 kW) | Distribution Charge | 200 | \$1.5188 | · · | 200 | \$1.4214 | \$284.28 | -\$19.47 | |
| | 200 kW and 100,000 kWh | Regulatory Asset Rate Rider | 200 | | · · | 200 | -\$0.3898 | -\$77.96 | -\$28.69 | |
| | | Network Charge | 200 | \$2.1855 | \$437.10 | 200 | \$2.1855 | \$437.10 | \$0.00 | |
| | | Connection Charge | 200 | \$0.9808 | \$196.16 | 200 | \$0.9808 | \$196.16 | \$0.00 | |
| | | Electricity Charge | 103,130 | \$0.0584 | \$6,022.79 | 103,926 | \$0.0584 | \$6,069.25 | \$46.46 | |
| | | Wholesale Market Charge | 103,130 | \$0.0062 | | 103,926 | \$0.0062 | \$644.34 | \$4.93 | |
| | | Debt Retirement Charge | 100,000 | \$0.00700 | | 100,000 | \$0.00700 | \$700.00 | \$0.00 | |
| | | Total Loss Factor Total without GST | | 1.0313 | | | 1.0393 | ¢0 570 70 | #26.24 | 0.40/ |
| Richmond | | Total without GST | | | \$8,609.04 | | | \$8,572.72 | -\$36.31 | -0.4% |
| Hill | General Service > 50 kW | Service Charge | 1 | \$326.3600 | \$326.36 | 1 | \$293.8600 | \$293.86 | -\$32.50 | |
| l | non TOU (< 1500 kW) | Distribution Charge | 200 | \$3.4968 | | 200 | \$3.2175 | \$643.50 | -\$55.86 | |
| | 200 kW and 100,000 kWh | Regulatory Asset Rate Rider | 200 | -\$0.3372 | | 200 | -\$0.0082 | -\$1.64 | \$65.80 | |
| | 200 KW and 100,000 KWII | Network Charge | 200 | \$2.1855 | \$437.10 | 200 | \$2.1855 | \$437.10 | \$0.00 | |
| | | Connection Charge | 200 | \$0.9808 | | 200 | \$0.9808 | \$196.16 | \$0.00 | |
| | | Electricity Charge | 103,450 | \$0.0584 | \$6,041.48 | 103,926 | \$0.0584 | \$6,069.25 | \$27.77 | |
| | | Wholesale Market Charge | 103,450 | \$0.0062 | \$641.39 | 103,926 | \$0.0062 | \$644.34 | \$2.95 | |
| | | Debt Retirement Charge | 100,000 | \$0.00700 | \$700.00 | 100,000 | \$0.00700 | \$700.00 | \$0.00 | |
| | | Total Loss Factor | | 1.0345 | | · | 1.0393 | | | |
| | | Total without GST | | | \$8,974.41 | | | \$8,982.57 | \$8.16 | 0.1% |
| Vaughan | General Service > 50 kW | Service Charge | 1 | \$313.1700 | \$313.17 | 1 | \$306.2900 | \$306.29 | -\$6.88 | |
| | non TOU (< 1500 kW) | Distribution Charge | 200 | \$2.7680 | · · | 200 | \$2.7831 | \$556.63 | \$3.03 | |
| | 200 kW and 100,000 kWh | Regulatory Asset Rate Rider | 200 | -\$0.7186 | | 200 | -\$0.4488 | -\$89.76 | \$53.96 | |
| | | Network Charge | 200 | \$2.1855 | \$437.10 | 200 | \$2.1855 | \$437.10 | \$0.00 | |
| | | Connection Charge | 200 | \$0.9808 | | 200 | \$0.9808 | \$196.16 | \$0.00 | |
| | | Electricity Charge | 103,670 | | \$6,054.33 | 103,926 | \$0.0584 | \$6,069.25 | \$14.93 | |
| | | Wholesale Market Charge | 103,670 | \$0.0062 | | 103,926 | \$0.0062 | \$644.34 | \$1.58 | |
| | | Debt Retirement Charge Total Loss Factor | 100,000 | \$0.00700 | \$700.00 | 100,000 | \$0.00700 | \$700.00 | \$0.00 | |
| | | Total without GST | | 1.0367 | \$8,753.39 | | 1.0393 | ¢0,000,04 | \$66.62 | 0.8% |
| Markham | General Service TOU | Service Charge | 1 | \$2,986.3500 | \$2,986.35 | 1 | \$2,711.0500 | \$8,820.01 \$2,711.05 | -\$275.30 | 0.6% |
| Markitani | (> kW 1500 < 5000 kW) | Distribution Charge | 2,000 | \$1.3860 | | 2,000 | \$1.3467 | \$2,693.33 | -\$78.71 | |
| | 2,000 kW and 800,000 kWh | Regulatory Asset Rate Rider | 2,000 | -\$0.7272 | -\$1,454.35 | 2,000 | -\$0.9205 | -\$1,841.00 | -\$386.65 | |
| | 2,000 KW and 000,000 KW | Network Charge | 2,000 | \$2.3211 | \$4,642.20 | 2,000 | \$2.3211 | \$4,642.20 | \$0.00 | |
| 1 | | Connection Charge | 2,000 | \$1.0751 | \$2,150.20 | 2,000 | \$1.0751 | \$2,150.20 | \$0.00 | |
| 1 | | Electricity Charge | 825,040 | \$0.0584 | \$48,182.34 | 831,405 | \$0.0584 | \$48,554.03 | \$371.69 | |
| 1 | | Wholesale Market Charge | 825,040 | \$0.0062 | | 831,405 | \$0.0062 | \$5,154.71 | \$39.46 | |
| 1 | | Debt Retirement Charge | 800,000 | \$0.00700 | | 800,000 | \$0.00700 | \$5,600.00 | \$0.00 | |
| | | Total Loss Factor | | 1.0313 | | | 1.0393 | | | |
| | | Total without GST | | | \$69,994.02 | | | \$69,664.52 | -\$329.51 | -0.5% |
| Vaughan | Large User | Service Charge | 1 | \$7,981.4700 | | 1 | \$8,130.2800 | \$8,130.28 | \$148.81 | |
| 1 | 6,000 kW and 2,000,000 kWh | Distribution Charge | 6,000 | | | 6,000 | \$1.1694 | \$7,016.19 | -\$50.93 | |
| | | Regulatory Asset Rate Rider | 6,000 | | | 6,000 | -\$0.9271 | -\$5,562.60 | \$4,156.51 | |
| 1 | | Network Charge | 6,000 | | \$15,420.60 | 6,000 | \$2.5701 | \$15,420.60 | \$0.00 | |
| 1 | | Connection Charge | 6,000 | | | 6,000 | \$1.2295 | \$7,377.00 | \$0.00 | |
| | | Electricity Charge | 2,029,000 | | | 2,029,000 | \$0.0584 | \$118,493.60 | \$0.00 | |
| | | Wholesale Market Charge | 2,029,000 | | | | \$0.0062 | \$12,579.80 | \$0.00 | |
| | | Debt Retirement Charge Total Loss Factor | 2,000,000 | | | 2,000,000 | \$0.00700 | \$14,000.00 | \$0.00 | |
| | | Total Loss Factor Total without GST | | 1.0145 | | | 1.0145 | | ¢4.054.00 | 0.50/ |
| L | | rotal without GST | 1 | l | \$173,200.48 | | | \$177,454.87 | \$4,254.39 | 2.5% |

TABLE B PowerStream - Bill Impacts (Monthly Consumption)

| | | | | March 1, 2003 | | | May 1, 2006 | | | |
|-----------|-------------|-----------------------------|-------|---------------|-----------------|-------|-------------|--------------|----------|----------|
| Rate Zone | Class | Charge Description | | Rates | Monthly Bill | | Rates | Monthly Bill | Increase | Increase |
| | | | | | at Current rate | | | at new rates | | |
| | | | | | | | | | \$ | % |
| Aurora | Residential | Service Charge | 1 | \$13.2500 | \$13.25 | 1 | \$14.1800 | \$14.18 | \$0.93 | |
| | 1000 kWh | Distribution Charge | 1,000 | \$0.0122 | \$12.20 | 1,000 | \$0.0178 | \$17.81 | \$5.61 | |
| | | Regulatory Asset Rate Rider | 1,000 | \$0.0000 | \$0.00 | 1,000 | \$0.0051 | \$5.10 | \$5.10 | |
| | | Network Charge | 1,051 | \$0.0061 | \$6.41 | 1,064 | \$0.0061 | \$6.49 | \$0.08 | |
| | | Connection Charge | 1,051 | \$0.0053 | \$5.57 | 1,064 | \$0.0053 | \$5.64 | \$0.07 | |
| | | Electricity Charge | 1,051 | \$0.0430 | \$45.18 | 1,064 | | \$64.08 | \$18.90 | |
| | | Wholesale Market Charge | 1,051 | \$0.0062 | \$6.51 | 1,064 | \$0.0062 | \$6.60 | \$0.08 | |
| | | Debt Retirement Charge | 1,000 | \$0.0070 | \$7.00 | 1,000 | \$0.00700 | \$7.00 | \$0.00 | |
| | | Total Loss Factor | | 1.0506 | | | 1.0639 | | | |
| | | Total without GST | | | \$96.12 | | | \$126.90 | \$30.78 | 32.0% |
| Markham | Residential | Service Charge | 1 | \$13.8900 | \$13.89 | 1 | \$11.0000 | \$11.00 | -\$2.89 | |
| | 1000 kWh | Distribution Charge | 1,000 | \$0.0110 | \$11.00 | 1,000 | \$0.0127 | \$12.69 | \$1.69 | |
| | | Regulatory Asset Rate Rider | 1,000 | \$0.0000 | \$0.00 | 1,000 | -\$0.0007 | -\$0.70 | -\$0.70 | |
| | | Network Charge | 1,031 | \$0.0057 | \$5.88 | 1,039 | \$0.0059 | \$6.13 | \$0.25 | |
| | | Connection Charge | 1,031 | \$0.0050 | \$5.16 | 1,039 | \$0.0027 | \$2.81 | -\$2.35 | |
| | | Electricity Charge | 1,031 | \$0.0430 | \$44.35 | 1,039 | | \$62.43 | \$18.08 | |
| | | Wholesale Market Charge | 1,031 | \$0.0062 | \$6.39 | 1,039 | \$0.0062 | \$6.44 | \$0.05 | |
| | | Debt Retirement Charge | 1,000 | \$0.0070 | \$7.00 | 1,000 | \$0.00700 | \$7.00 | \$0.00 | |
| | | Total Loss Factor | | 1.0313 | | | 1.0393 | | | |
| | | Total without GST | | | \$93.66 | | | \$107.80 | \$14.13 | 15.1% |
| Richmond | | | | | | | | | | |
| Hill | Residential | Service Charge | 1 | \$16.0600 | \$16.06 | 1 | \$12.9900 | \$12.99 | -\$3.07 | |
| | 1000 kWh | Distribution Charge | 1,000 | \$0.0124 | \$12.40 | 1,000 | \$0.0147 | \$14.70 | \$2.30 | |
| | | Regulatory Asset Rate Rider | 1,000 | \$0.0000 | \$0.00 | 1,000 | -\$0.0010 | -\$0.97 | -\$0.97 | |
| | | Network Charge | 1,035 | \$0.0057 | \$5.90 | 1,039 | \$0.0059 | \$6.13 | \$0.23 | |
| | | Connection Charge | 1,035 | \$0.0050 | \$5.17 | 1,039 | \$0.0027 | \$2.81 | -\$2.37 | |
| | | Electricity Charge | 1,035 | \$0.0430 | \$44.48 | 1,039 | | \$62.43 | \$17.95 | |
| | | Wholesale Market Charge | 1,035 | \$0.0062 | \$6.41 | 1,039 | \$0.0062 | \$6.44 | \$0.03 | |
| | | Debt Retirement Charge | 1,000 | \$0.0070 | \$7.00 | 1,000 | \$0.00700 | \$7.00 | \$0.00 | |
| | | Total Loss Factor | | 1.0345 | | | 1.0393 | | | |
| | | Total without GST | | | \$97.43 | | | \$111.53 | \$14.10 | 14.5% |
| Vaughan | Residential | Service Charge | 1 | \$13.9500 | \$13.95 | 1 | \$11.8000 | \$11.80 | -\$2.15 | |
| | 1000 kWh | Distribution Charge | 1,000 | \$0.0090 | \$9.00 | 1,000 | \$0.0111 | \$11.06 | \$2.06 | |
| | | Regulatory Asset Rate Rider | 1,000 | \$0.0000 | \$0.00 | 1,000 | -\$0.0017 | -\$1.69 | -\$1.69 | |
| | | Network Charge | 1,037 | \$0.0057 | \$5.91 | 1,039 | \$0.0059 | \$6.13 | \$0.22 | |
| | | Connection Charge | 1,037 | \$0.0050 | \$5.18 | 1,039 | \$0.0027 | \$2.81 | -\$2.38 | |
| | | Electricity Charge | 1,037 | \$0.0430 | \$44.58 | 1,039 | | \$62.43 | \$17.85 | |
| | | Wholesale Market Charge | 1,037 | \$0.0062 | \$6.43 | 1,039 | \$0.0062 | \$6.44 | \$0.02 | |
| | | Debt Retirement Charge | 1,000 | · | \$7.00 | 1,000 | \$0.00700 | \$7.00 | \$0.00 | |
| | | Total Loss Factor | , | 1.0367 | , | ,,,,, | 1.0393 | ***** | ,,,,, | |
| | | Total without GST | | | \$92.05 | | | \$105.98 | \$13.93 | 15.1% |

\$0.058

800

\$0.067

| I a | [O | lo | ام ا | #00.0400 | #00.04 | 4 | #00.0000 | 1 #00.00 | 1 00.45 | 1 |
|----------|-------------------------------------|-----------------------------|-------|-----------|--------------------|-------|--|--------------------|------------------|---------|
| Aurora | General Service < 50 kW 2000 kWh | Service Charge | 2 000 | \$32.2100 | \$32.21 \$18.20 | 2 000 | \$32.6600 | \$32.66 | \$0.45 \$9.31 | |
| | ZUUU KVVN | Distribution Charge | 2,000 | \$0.0091 | | | \$0.0138 | \$27.51 | | |
| | | Regulatory Asset Rate Rider | 2,000 | \$0.0000 | \$0.00 | 2,000 | \$0.0039 | \$7.80 | | |
| | | Network Charge | 2,101 | \$0.0052 | \$10.93 | 2,128 | \$0.0055 | \$11.70 | \$0.78 | |
| | | Connection Charge | 2,101 | \$0.0045 | \$9.46 | 2,128 | \$0.0048 | \$10.21 | \$0.76 | |
| | | Electricity Charge | 2,101 | \$0.0430 | \$90.35 | 2,128 | | \$135.81 | \$45.46 | |
| | | Wholesale Market Charge | 2,101 | \$0.0062 | \$13.03 | 2,128 | \$0.0062 | \$13.19 | | |
| | | Debt Retirement Charge | 2,000 | \$0.0070 | \$14.00 | 2,000 | \$0.00700 | \$14.00 | \$0.00 | |
| | | Total Loss Factor | | 1.0506 | | | 1.0639 | | | |
| | | Total without GST | | | \$188.17 | | | \$252.89 | | 34.4% |
| Markham | General Service < 50 kW | Service Charge | 1 | \$35.7500 | \$35.75 | 1 | \$28.5300 | \$28.53 | | |
| | 2000 kWh | Distribution Charge | 2,000 | \$0.0081 | \$16.20 | 2,000 | \$0.0089 | \$17.71 | \$1.51 | |
| | | Regulatory Asset Rate Rider | 2,000 | \$0.0000 | \$0.00 | 2,000 | -\$0.0012 | -\$2.33 | -\$2.33 | |
| | | Network Charge | 2,063 | \$0.0052 | \$10.73 | 2,079 | \$0.0054 | \$11.22 | \$0.50 | |
| | | Connection Charge | 2,063 | \$0.0045 | \$9.28 | 2,079 | \$0.0025 | \$5.20 | -\$4.09 | |
| | | Electricity Charge | 2,063 | \$0.0430 | \$88.69 | 2,079 | | \$132.51 | \$43.82 | |
| | | Wholesale Market Charge | 2,063 | \$0.0062 | \$12.79 | 2,079 | \$0.0062 | \$12.89 | \$0.10 | |
| | | Debt Retirement Charge | 2,000 | \$0.0070 | \$14.00 | 2,000 | \$0.00700 | \$14.00 | \$0.00 | |
| | | Total Loss Factor | , | 1.0313 | • | , | 1.0393 | · | | |
| | | Total without GST | | | \$187.44 | | | \$219.72 | \$32.28 | 17.2% |
| Richmond | | | | | | | | | | |
| Hill | General Service < 50 kW | Service Charge | 1 | \$40.6000 | \$40.60 | 1 | \$33.2800 | \$33.28 | -\$7.32 | |
| | 2500 kWh | Distribution Charge | 2,000 | \$0.0105 | \$21.00 | 2,000 | \$0.0125 | \$24.94 | | |
| | 1 | Regulatory Asset Rate Rider | 2,000 | \$0.0000 | \$0.00 | 2,000 | -\$0.0003 | -\$0.58 | -\$0.58 | |
| | | Network Charge | 2,069 | \$0.0052 | \$10.76 | 2,079 | \$0.0054 | \$11.22 | | |
| | | Connection Charge | 2,069 | \$0.0045 | \$9.31 | 2,079 | \$0.0025 | \$5.20 | | |
| | | Electricity Charge | 2,069 | \$0.0430 | \$88.97 | 2,079 | ψ0.0020 | \$132.51 | \$43.54 | |
| | | Wholesale Market Charge | 2,069 | \$0.0062 | \$12.83 | 2,079 | \$0.0062 | \$12.89 | \$0.06 | |
| | | Debt Retirement Charge | 2,000 | \$0.0070 | \$14.00 | 2,000 | \$0.00700 | \$14.00 | \$0.00 | |
| | | Total Loss Factor | 2,000 | 1.0345 | \$14.00 | 2,000 | 1.0393 | \$14.00 | ψ0.00 | |
| | | Total without GST | | 1.0343 | \$197.46 | | 1.0393 | \$233.46 | \$36.00 | 18.2% |
| Vaughan | General Service < 50 kW | Service Charge | 1 | \$34.0400 | \$34.04 | 1 | \$28.1300 | \$28.13 | -\$5.91 | 18.2 /6 |
| vaugnan | 2500 kWh | Distribution Charge | 2,000 | \$0.0131 | \$26.20 | 2,000 | \$0.0142 | \$28.44 | | |
| | Z500 KWII | Regulatory Asset Rate Rider | 2,000 | \$0.000 | \$0.00 | 2,000 | -\$0.0022 | \$20.44 -\$4.44 | | |
| | | | | | | 2,000 | \$0.0022 | | | |
| | | Network Charge | 2,073 | \$0.0052 | \$10.78 | | | \$11.22 | | |
| | | Connection Charge | 2,073 | \$0.0045 | \$9.33 | 2,079 | \$0.0025 | \$5.20 | -\$4.13 | |
| | | Electricity Charge | 2,073 | \$0.0430 | \$89.16 | 2,079 | * *********************************** | \$132.51 | \$43.35 | |
| | | Wholesale Market Charge | 2,073 | \$0.0062 | \$12.86 | 2,079 | \$0.0062 | \$12.89 | | |
| | | Debt Retirement Charge | 2,000 | \$0.0070 | \$14.00 | 2,000 | \$0.00700 | \$14.00 | \$0.00 | |
| 1 | | Total Loss Factor | | 1.0367 | | | 1.0393 | | _ | |
| | | Total without GST | | | \$196.36 | | | \$227.94 | \$31.58 | 16.1% |

| Aurora | General Service > 50 kW | Service Charge | 1 | \$204.2800 | \$204.28 | 1 | \$209.3800 | \$209.38 | \$5.10 | |
|------------|-----------------------------|-----------------------------|-----------|----------------------|--------------|------------------|--------------------|--------------------|-------------------|---------|
| | non TOU (< 1500 kW) | Distribution Charge | 200 | \$1.6919 | \$338.38 | 200 | \$2.5204 | \$504.09 | \$165.71 | |
| | 200 kW and 100,000 kWh | Regulatory Asset Rate Rider | 200 | \$0.0000 | \$0.00 | 200 | \$1.3376 | \$267.52 | \$267.52 | |
| | | Network Charge | 200 | \$2.1218 | \$424.36 | 200 | \$2.2720 | \$454.40 | \$30.04 | |
| | | Connection Charge | 200 | \$1.7882 | \$357.64 | 200 | \$1.9763 | \$395.26 | \$37.62 | |
| | | Electricity Charge | 105,061 | \$0.0430 | \$4,517.61 | 103,926 | \$0.0584 | \$6,069.25 | \$1,551.65 | |
| | | Wholesale Market Charge | 105,061 | \$0.0062 | \$651.38 | 103,926 | \$0.0062 | \$644.34 | -\$7.04 | |
| | | Debt Retirement Charge | 100,000 | \$0.0070 | \$700.00 | 100,000 | \$0.00700 | \$700.00 | \$0.00 | |
| | | Total Loss Factor | · | 1.0506 | | | 1.0393 | | | |
| | | Total without GST | | | \$7,193.64 | | | \$9,244.24 | \$2,050.60 | 28.5% |
| Markham | General Service > 50 kW | Service Charge | 1 | \$399.9000 | \$399.90 | 1 | \$319.5500 | \$319.55 | -\$80.35 | |
| | non TOU (< 1500 kW) | Distribution Charge | 200 | \$1.1839 | \$236.78 | 200 | \$1.4214 | \$284.28 | \$47.50 | |
| | 200 kW and 100,000 kWh | Regulatory Asset Rate Rider | 200 | \$0.0000 | \$0.00 | 200 | -\$0.3898 | -\$77.96 | -\$77.96 | |
| | · | Network Charge | 200 | \$2.1218 | \$424.36 | 200 | \$2.1855 | \$437.10 | \$12.74 | |
| | | Connection Charge | 200 | \$1.7882 | \$357.64 | 200 | \$0.9808 | \$196.16 | -\$161.48 | |
| | | Electricity Charge | 103,130 | \$0.0430 | \$4,434.59 | 103,926 | \$0.0584 | \$6,069.25 | \$1,634.66 | |
| | | Wholesale Market Charge | 103,130 | \$0.0062 | \$639.41 | 103,926 | \$0.0062 | \$644.34 | \$4.93 | |
| | | Debt Retirement Charge | 100,000 | \$0.0070 | \$700.00 | 100,000 | \$0.00700 | \$700.00 | \$0.00 | |
| | | Total Loss Factor | · | 1.0313 | | | 1.0393 | | | |
| | | Total without GST | | | \$7,192.68 | | | \$8,572.72 | \$1,380.05 | 19.2% |
| Richmond | | | | | . , | | | * - 1 - | , , | |
| Hill | General Service > 50 kW | Service Charge | 1 | \$391.7500 | \$391.75 | 1 | \$293.8600 | \$293.86 | -\$97.89 | |
| | non TOU (< 1500 kW) | Distribution Charge | 200 | \$3.0889 | \$617.78 | 200 | \$3.2175 | \$643.50 | \$25.72 | |
| | 200 kW and 100,000 kWh | Regulatory Asset Rate Rider | 200 | \$0.0000 | \$0.00 | 200 | -\$0.0082 | -\$1.64 | -\$1.64 | |
| | 200 1111 4114 100,000 11111 | Network Charge | 200 | \$2.1218 | \$424.36 | 200 | \$2.1855 | \$437.10 | \$12.74 | |
| | | Connection Charge | 200 | \$1.7882 | \$357.64 | 200 | \$0.9808 | \$196.16 | -\$161.48 | |
| | | Electricity Charge | 103,450 | \$0.0430 | \$4,448.35 | 103,926 | \$0.0584 | \$6,069.25 | \$1,620.90 | |
| | | Wholesale Market Charge | 103,450 | \$0.0062 | \$641.39 | 103,926 | \$0.0062 | \$644.34 | \$2.95 | |
| | | Debt Retirement Charge | 100,000 | \$0.0070 | \$700.00 | 100,000 | \$0.00700 | \$700.00 | \$0.00 | |
| | | Total Loss Factor | 100,000 | 1.0345 | Ψ100.00 | 100,000 | 1.0393 | Ψ/ 00.00 | ψ0.00 | |
| | | Total without GST | | 1.0040 | \$7,581.27 | | 1.0000 | \$8,982.57 | \$1,401.30 | 18.5% |
| Vaughan | General Service > 50 kW | Service Charge | 1 | \$358.1700 | \$358.17 | 1 | \$306.2900 | \$306.29 | -\$51.88 | 10.070 |
| vaagnan | non TOU (< 1500 kW) | Distribution Charge | 200 | \$2.6062 | \$521.24 | 200 | \$2.7831 | \$556.63 | \$35.39 | |
| | 200 kW and 100,000 kWh | Regulatory Asset Rate Rider | 200 | \$0.0000 | \$0.00 | 200 | -\$0.4488 | -\$89.76 | -\$89.76 | |
| | 200 KW and 100,000 KW | Network Charge | 200 | \$2.1218 | \$424.36 | 200 | \$2.1855 | \$437.10 | \$12.74 | |
| | | Connection Charge | 200 | \$1.7882 | \$357.64 | 200 | \$0.9808 | \$196.16 | -\$161.48 | |
| | | Electricity Charge | 103,670 | \$0.0430 | \$4,457.81 | 103,926 | \$0.0584 | \$6,069.25 | \$1,611.44 | |
| | | Wholesale Market Charge | 103,670 | \$0.0062 | \$642.75 | 103,926 | \$0.0062 | \$644.34 | \$1.58 | |
| | | Debt Retirement Charge | 100,000 | \$0.0070 | \$700.00 | 100,000 | \$0.00700 | \$700.00 | \$0.00 | |
| | | Total Loss Factor | 100,000 | 1.0367 | Ψ100.00 | 100,000 | 1.0393 | \$700.00 | \$0.00 | |
| | | Total without GST | | 1.0307 | \$7,461.97 | | 1.0393 | \$8,820.01 | \$1,358.04 | 18.2% |
| Markham | General Service TOU | Service Charge | 1 | \$3,410.2500 | \$3,410.25 | 1 | \$2,711.0500 | \$2,711.05 | -\$699.20 | 10.2 /6 |
| Markilaili | (> kW 1500 < 5000 kW) | Distribution Charge | 2,000 | \$3,410.2500 | \$2,314.40 | 2,000 | \$1.3467 | \$2,693.33 | \$378.93 | |
| | 2,000 kW and 800,000 kWh | Regulatory Asset Rate Rider | 2,000 | \$0.0000 | \$0.00 | 2,000 | -\$0.9205 | -\$1,841.00 | -\$1,841.00 | |
| | 2,000 KW and 800,000 KWII | Network Charge | 2,000 | \$2.2535 | \$4,507.00 | 2,000 | \$2.3211 | \$4,642.20 | \$135.20 | |
| | | Connection Charge | 2,000 | \$1.9603 | \$3,920.60 | 2,000 | \$1.0751 | \$2,150.20 | -\$1,770.40 | |
| | | Electricity Charge | 825,040 | \$0.0430 | \$35,476.72 | 2,000 831,405 | \$0.0584 | \$48,554.03 | \$13,077.31 | |
| | | , 0 | | | | | | | \$13,077.31 | |
| | | Wholesale Market Charge | 825,040 | \$0.0062 | \$5,115.25 | 831,405 | \$0.0062 | \$5,154.71 | \$39.46 \$0.00 | |
| | | Debt Retirement Charge | 800,000 | \$0.0070 | \$5,600.00 | 800,000 | \$0.00700 | \$5,600.00 | \$0.00 | |
| | | Total Loss Factor | | 1.0313 | 000 044 00 | | 1.0393 | # 00.004.50 | #0.000.00 | 45 40/ |
| V/ | Lanca Hann | Total without GST | | # 40.040.4000 | \$60,344.22 | 4 | #0.400.0000 | \$69,664.52 | \$9,320.30 | 15.4% |
| Vaughan | Large User | Service Charge | 1 | \$10,246.1800 | \$10,246.18 | 1 | \$8,130.2800 | \$8,130.28 | -\$2,115.90 | |
| | 6,000 kW and 2,000,000 kWh | Distribution Charge | 6,000 | \$0.9705 | \$5,823.00 | 6,000 | \$1.1694 | \$7,016.19 | \$1,193.19 | |
| | | Regulatory Asset Rate Rider | 6,000 | \$0.0000 | \$0.00 | 6,000 | -\$0.9271 | -\$5,562.60 | -\$5,562.60 | |
| | | Network Charge | 6,000 | \$2.4952 | \$14,971.20 | 6,000 | \$2.5701 | \$15,420.60 | \$449.40 | |
| | | Connection Charge | 6,000 | \$2.2417 | \$13,450.20 | 6,000 | \$1.2295 | \$7,377.00 | -\$6,073.20 | |
| | | Electricity Charge | 2,029,000 | \$0.0430 | \$87,247.00 | 2,029,000 | \$0.0584 | \$118,493.60 | \$31,246.60 | |
| | | Wholesale Market Charge | 2,029,000 | \$0.0062 | \$12,579.80 | 2,029,000 | \$0.0062 | \$12,579.80 | \$0.00 | |
| | | Debt Retirement Charge | 2,000,000 | \$0.0070 | \$14,000.00 | 2,000,000 | \$0.00700 | \$14,000.00 | \$0.00 | |
| | | Total Loss Factor | | 1.0145 | 0.500.5 | | 1.0145 | A.== | 04040= :- | ,, |
| | ĺ | Total without GST | 1 | | \$158,317.38 | | | \$177,454.87 | \$19,137.49 | 12.1% |

TABLE C

PowerStream - Bill Impacts (Monthly Consumption)

| | | | | November 1. | | | | May 1, 2006 | | | |
|-----------|-------------|---------------------|-------|-------------|-----------------|-----------------------------|-------|-------------|--------------|----------|----------|
| Rate Zone | Class | Charge Description | | 2000 Rates | Monthly Bil | Charge Description | | Rates | Monthly Bill | Increase | Increase |
| rate zone | Oluss | Charge Description | | 2000 Rates | at Current rate | | | Rutes | at new rates | morcusc | moreuse |
| | | | | | | | | | | s | 9/ |
| Aurora | Residential | Service Charge | 1 | \$12.6500 | \$12.65 | Service Charge | 1 | \$14.1800 | \$14.18 | \$1.53 | |
| | 1000 kWh | Distribution Charge | 1,000 | \$0.0117 | \$11.66 | Distribution Charge | 1,000 | \$0.0178 | \$17.81 | \$6.15 | |
| | | _ | 1,000 | \$0.0000 | \$0.00 | Regulatory Asset Rate Rider | 1,000 | \$0.0051 | \$5.10 | \$5.10 | |
| | | | 1,051 | \$0.0000 | \$0.00 | Network Charge | 1,064 | \$0.0061 | \$6.49 | \$6.49 | |
| | | | 1,051 | \$0.0000 | \$0.00 | Connection Charge | 1,064 | \$0.0053 | \$5.64 | \$5.64 | |
| | | Cost of Power | 1,051 | \$0.0675 | \$70.92 | Electricity Charge | 1,064 | | \$64.08 | -\$6.84 | |
| | | | 1,051 | \$0.0000 | \$0.00 | Wholesale Market Charge | 1,064 | \$0.0062 | \$6.60 | \$6.60 | |
| | | | 1,000 | \$0.00000 | \$0.00 | Debt Retirement Charge | 1,000 | \$0.0000 | \$0.00 | \$0.00 | |
| | | Total Loss Factor | | 1.0506 | | Total Loss Factor | | 1.0639 | | | |
| | | Total without GST | | | \$95.23 | Total without GST | | | \$119.90 | \$24.67 | 25.9% |
| Markham | Residential | Service Charge | 1 | \$9.3100 | | Service Charge | 1 | \$11.0000 | \$11.00 | \$1.69 | |
| | 1000 kWh | Distribution Charge | 1,000 | \$0.0073 | \$7.33 | Distribution Charge | 1,000 | \$0.0127 | \$12.69 | \$5.36 | |
| | | | 1,000 | \$0.0000 | \$0.00 | Regulatory Asset Rate Rider | 1,000 | -\$0.0007 | -\$0.70 | -\$0.70 | |
| | | | 1,031 | \$0.0000 | \$0.00 | Network Charge | 1,039 | \$0.0059 | \$6.13 | \$6.13 | |
| | | | 1,031 | \$0.0000 | \$0.00 | Connection Charge | 1,039 | \$0.0027 | \$2.81 | \$2.81 | |
| | | Cost of Power | 1,031 | \$0.0653 | \$67.37 | Electricity Charge | 1,039 | | \$62.43 | -\$4.94 | |
| | | | 1,031 | \$0.0000 | \$0.00 | Wholesale Market Charge | 1,039 | \$0.0062 | \$6.44 | \$6.44 | |
| | | | 1,000 | \$0.00000 | \$0.00 | Debt Retirement Charge | 1,000 | \$0.00700 | \$7.00 | \$7.00 | |
| | | Total Loss Factor | | 1.0313 | | Total Loss Factor | | 1.0393 | | | |
| | | Total without GST | | | \$84.01 | Total without GST | | | \$107.80 | \$23.79 | 28.3% |
| Richmond | | | | | | | | | | | |
| Hill | Residential | Service Charge | 1 | \$11.0100 | | Service Charge | 1 | \$12.9900 | \$12.99 | \$1.98 | |
| | 1000 kWh | Distribution Charge | 1,000 | \$0.0085 | | Distribution Charge | 1,000 | \$0.0147 | \$14.70 | \$6.24 | |
| | | | 1,000 | \$0.0000 | | Regulatory Asset Rate Rider | 1,000 | -\$0.0010 | -\$0.97 | -\$0.97 | |
| | | | 1,035 | \$0.0000 | | Network Charge | 1,039 | \$0.0059 | \$6.13 | \$6.13 | |
| | | | 1,035 | \$0.0000 | | Connection Charge | 1,039 | \$0.0027 | \$2.81 | \$2.81 | |
| | | Cost of Power | 1,035 | \$0.0662 | | Electricity Charge | 1,039 | | \$62.43 | -\$6.01 | |
| | | | 1,035 | \$0.0000 | | Wholesale Market Charge | 1,039 | \$0.0062 | \$6.44 | \$6.44 | |
| | | | 1,000 | \$0.00000 | \$0.00 | Debt Retirement Charge | 1,000 | \$0.00700 | \$7.00 | \$7.00 | |
| | | Total Loss Factor | | 1.0345 | | Total Loss Factor | | 1.0393 | | | |
| | | Total without GST | | | | Total without GST | | | \$111.53 | \$23.63 | 26.9% |
| Vaughan | Residential | Service Charge | 1 | \$10.4400 | | Service Charge | 1 | \$11.8000 | \$11.80 | \$1.36 | |
| | 1000 kWh | Distribution Charge | 1,000 | \$0.0066 | | Distribution Charge | 1,000 | \$0.0111 | \$11.06 | \$4.45 | |
| | | | 1,000 | \$0.0000 | | Regulatory Asset Rate Rider | 1,000 | -\$0.0017 | -\$1.69 | -\$1.69 | |
| | 1 | | 1,037 | \$0.0000 | | Network Charge | 1,039 | \$0.0059 | \$6.13 | \$6.13 | ĺ |
| | 1 | | 1,037 | \$0.0000 | | Connection Charge | 1,039 | \$0.0027 | \$2.81 | \$2.81 | ĺ |
| | | Cost of Power | 1,037 | \$0.0653 | | Electricity Charge | 1,039 | | \$62.43 | -\$5.25 | |
| | 1 | | 1,037 | \$0.0000 | | Wholesale Market Charge | 1,039 | \$0.0062 | \$6.44 | \$6.44 | ĺ |
| | 1 | | 1,000 | \$0.00000 | \$0.00 | Debt Retirement Charge | 1,000 | \$0.00700 | \$7.00 | \$7.00 | 1 |
| | | Total Loss Factor | | 1.0367 | | Total Loss Factor | | 1.0393 | | | |
| | 1 | Total without GST | 1 | l | \$84.73 | Total without GST | 1 | | \$105.98 | \$21.25 | 25.1% |

\$0.067

800

\$0.058

| Aurora | General Service < 50 kW | Service Charge | I 1 | \$30.2300 | \$30.23 Service Charge | 1 | \$32,6600 | \$32.66 | \$2.43 | 1 |
|----------|-------------------------|---------------------|-------|-----------|------------------------------------|-------|-----------|----------|---------|-------|
| | 2000 kWh | Distribution Charge | 2,000 | \$0.0087 | \$17.41 Distribution Charge | 2,000 | \$0.0138 | \$27.51 | \$10.10 | |
| | | | 2,000 | \$0.0000 | \$0.00 Regulatory Asset Rate Rider | 2,000 | \$0.0039 | \$7.80 | \$7.80 | |
| | | | 2,101 | \$0.0000 | \$0.00 Network Charge | 2,128 | \$0.0055 | \$11.70 | \$11.70 | |
| | | | 2,101 | \$0.0000 | \$0.00 Connection Charge | 2,128 | \$0.0048 | \$10.21 | \$10.21 | |
| | | Cost of Power | 2,101 | \$0.0664 | \$127.27 Electricity Charge | 2,128 | ***** | \$135.81 | \$8.54 | |
| | | | 2,101 | \$0.0000 | \$0.00 Wholesale Market Charge | 2,128 | \$0.0062 | \$13.19 | \$13.19 | |
| | | | 2,000 | \$0.00000 | \$0.00 Debt Retirement Charge | 2,000 | \$0.00700 | \$14.00 | \$14.00 | |
| | | Total Loss Factor | • | 1.0506 | Total Loss Factor | | 1.0639 | • | • | |
| | | Total without GST | | | \$174.92 Total without GST | | | \$252.89 | \$77.97 | 44.6% |
| Markham | General Service < 50 kW | Service Charge | 1 | \$24.1400 | \$24.14 Service Charge | 1 | \$28.5300 | \$28.53 | \$4.39 | |
| | 2000 kWh | Distribution Charge | 2,000 | \$0.0054 | \$10.85 Distribution Charge | 2,000 | \$0.0089 | \$17.71 | \$6.86 | |
| | | _ | 2,000 | \$0.0000 | \$0.00 Regulatory Asset Rate Rider | 2,000 | -\$0.0012 | -\$2.33 | -\$2.33 | |
| | | | 2,063 | \$0.0000 | \$0.00 Network Charge | 2,079 | \$0.0054 | \$11.22 | \$11.22 | |
| | | | 2,063 | \$0.0000 | \$0.00 Connection Charge | 2,079 | \$0.0025 | \$5.20 | \$5.20 | |
| | | Cost of Power | 2,063 | \$0.0645 | \$122.11 Electricity Charge | 2,079 | | \$132.51 | \$10.40 | |
| | | | 2,063 | \$0.0000 | \$0.00 Wholesale Market Charge | 2,079 | \$0.0062 | \$12.89 | \$12.89 | |
| | | | 2,000 | \$0.00000 | \$0.00 Debt Retirement Charge | 2,000 | \$0.00700 | \$14.00 | \$14.00 | |
| | | Total Loss Factor | | 1.0313 | Total Loss Factor | | 1.0393 | | | |
| | | Total without GST | | | \$157.10 Total without GST | | | \$219.72 | \$62.62 | 39.9% |
| Richmond | | | | | | | | | | |
| Hill | General Service < 50 kW | Service Charge | 1 | \$28.1500 | \$28.15 Service Charge | 1 | \$33.2800 | \$33.28 | \$5.13 | |
| | 2000 kWh | Distribution Charge | 2,000 | \$0.0076 | \$15.29 Distribution Charge | 2,000 | \$0.0125 | \$24.94 | \$9.64 | |
| | | | 2,000 | \$0.0000 | \$0.00 Regulatory Asset Rate Rider | 2,000 | -\$0.0003 | -\$0.58 | -\$0.58 | |
| | | | 2,069 | \$0.0000 | \$0.00 Network Charge | 2,079 | \$0.0054 | \$11.22 | \$11.22 | |
| | | | 2,069 | \$0.0000 | \$0.00 Connection Charge | 2,079 | \$0.0025 | \$5.20 | \$5.20 | |
| | | Cost of Power | 2,069 | \$0.0653 | \$123.61 Electricity Charge | 2,079 | | \$132.51 | \$8.90 | |
| | | | 2,069 | \$0.0000 | \$0.00 Wholesale Market Charge | 2,079 | \$0.0062 | \$12.89 | \$12.89 | |
| | | | 2,000 | \$0.00000 | \$0.00 Debt Retirement Charge | 2,000 | \$0.00700 | \$14.00 | \$14.00 | |
| | | Total Loss Factor | | 1.0345 | Total Loss Factor | | 1.0393 | | | |
| | | Total without GST | | | \$167.06 Total without GST | | | \$233.46 | \$66.40 | 39.7% |
| Vaughan | General Service < 50 kW | Service Charge | 1 | \$25.2600 | \$25.26 Service Charge | 1 | \$28.1300 | \$28.13 | \$2.87 | |
| | 2000 kWh | Distribution Charge | 2,000 | \$0.0097 | \$19.47 Distribution Charge | 2,000 | \$0.0142 | \$28.44 | \$8.97 | |
| | | | 2,000 | \$0.0000 | \$0.00 Regulatory Asset Rate Rider | 2,000 | -\$0.0022 | -\$4.44 | -\$4.44 | |
| | | | 2,073 | \$0.0000 | \$0.00 Network Charge | 2,079 | \$0.0054 | \$11.22 | \$11.22 | |
| | | | 2,073 | \$0.0000 | \$0.00 Connection Charge | 2,079 | \$0.0025 | \$5.20 | \$5.20 | |
| | | Cost of Power | 2,073 | \$0.0645 | \$122.79 Electricity Charge | 2,079 | | \$132.51 | \$9.72 | |
| | | | 2,073 | \$0.0000 | \$0.00 Wholesale Market Charge | 2,079 | \$0.0062 | \$12.89 | \$12.89 | |
| | | | 2,000 | \$0.00000 | \$0.00 Debt Retirement Charge | 2,000 | \$0.00700 | \$14.00 | \$14.00 | |
| | | Total Loss Factor | | 1.0367 | Total Loss Factor | | 1.0393 | | | |
| | | Total without GST | | | \$167.52 Total without GST | | | \$227.94 | \$60.42 | 36.1% |

| Markham Gennon 200 Richmond Hill Gennon | eneral Service > 50 kW on TOU (< 1500 kW) 10 kW and 100,000 kWh eneral Service > 50 kW on TOU (< 1500 kW) 10 kW and 100,000 kWh eneral Service > 50 kW on TOU (< 1500 kW) 10 kW and 100,000 kWh | Service Charge Distribution Charge Cost of Power/kW Cost of Power/kWh Total Loss Factor Total without GST Service Charge Distribution Charge Cost of Power/kW Cost of Power/kWh Total Loss Factor Total without GST Service Charge Distribution Charge | 1 200 200 200 200 105,061 105,061 100,000 200 200 200 103,130 103,130 100,000 | \$191.6700 \$1.6230 \$0.0000 \$0.0000 \$4.4684 \$0.0532 \$0.0000 \$1.0506 \$274.3300 \$0.8076 \$0.0000 \$0.0000 \$1.0506 \$250.0447 \$0.0000 \$0.0000 \$1.0313 | \$324.61 \$0.00 \$0.00 \$893.69 \$5,592.03 \$0.00 \$7,001.99 \$274.33 \$161.51 \$0.00 \$1,396.44 \$4,605.16 \$0.00 \$0.00 | Service Charge Distribution Charge Regulatory Asset Rate Rider Network Charge Connection Charge Electricity Charge Wholesale Market Charge Debt Retirement Charge Total Loss Factor Total without GST Service Charge Distribution Charge Regulatory Asset Rate Rider Network Charge Connection Charge Electricity Charge Wholesale Market Charge Debt Retirement Charge Total Loss Factor Total without GST | 1 200 200 200 200 106,389 106,389 100,000 1 1 200 200 200 200 103,926 103,926 100,000 | \$209.3800 \$2.5204 \$1.3376 \$2.2720 \$1.9763 \$0.0584 \$0.0062 \$0.00700 1.0639 \$319.5500 \$1.4214 -\$0.3898 \$2.1855 \$0.9808 \$0.0584 \$0.0062 \$0.00700 1.0393 | \$209.38 \$504.09 \$267.52 \$454.40 \$395.26 \$6,213.11 \$659.61 \$700.00 \$9,403.38 \$319.55 \$284.28 -\$77.96 \$437.10 \$196.16 \$6,069.25 \$644.34 \$700.00 | \$17.71 \$179.48 \$267.52 \$454.40 -\$498.43 \$621.09 \$659.61 \$700.00 \$2,401.38 \$45.22 \$122.77 -\$77.96 \$437.10 -\$1,200.28 \$1,464.09 \$644.34 \$700.00 | 34.3% 33.2% |
|--|---|---|---|--|--|---|---|--|--|--|----------------|
| Markham Gen non 200 Richmond Hill Gen non | eneral Service > 50 kW on TOU (< 1500 kW) 10 kW and 100,000 kWh | Cost of Power/kW Cost of Power/kWh Total Loss Factor Total without GST Service Charge Distribution Charge Cost of Power/kW Cost of Power/kWh Total Loss Factor Total without GST Service Charge | 200 200 200 105,061 105,061 100,000 11 200 200 200 103,130 103,130 100,000 | \$0.0000 \$0.0000 \$4.4684 \$0.0532 \$0.0000 \$0.0000 1.0506 \$274.3300 \$0.8076 \$0.0000 \$0.0000 \$0.0000 \$0.0000 \$0.0000 1.0313 | \$0.00 \$0.00 \$893.69 \$5,592.03 \$0.00 \$7,001.99 \$274.33 \$161.51 \$0.00 \$1.396.44 \$4,605.16 \$0.00 \$6.437.44 | Regulatory Asset Rate Rider Network Charge Connection Charge Electricity Charge Wholesale Market Charge Debt Retirement Charge Total Loss Factor Total without GST Service Charge Distribution Charge Regulatory Asset Rate Rider Network Charge Connection Charge Electricity Charge Wholesale Market Charge Debt Retirement Charge Total Loss Factor | 200 200 200 106,389 106,389 100,000 1 200 200 200 200 200 103,926 | \$1.3376 \$2.2720 \$1.9763 \$0.0584 \$0.0062 \$0.00700 1.0639 \$319.5500 \$1.4214 -80.3898 \$2.1855 \$0.9808 \$0.0584 \$0.0062 \$0.00700 | \$267.52 \$454.40 \$395.26 \$6,213.11 \$659.61 \$700.00 \$9,403.38 \$319.55 \$284.28 -\$77.96 \$437.10 \$196.16 \$6,069.25 \$644.34 | \$267.52 \$454.40 -\$498.43 \$621.09 \$659.61 \$700.00 \$2,401.38 \$45.22 \$122.77 -\$77.96 \$437.10 -\$1,200.28 \$1,464.09 \$644.34 \$700.00 | |
| Markham Gen non 200 Richmond Hill Gen non | eneral Service > 50 kW on TOU (< 1500 kW))0 kW and 100,000 kWh eneral Service > 50 kW on TOU (< 1500 kW) | Cost of Power/kWh Total Loss Factor Total without GST Service Charge Distribution Charge Cost of Power/kW Cost of Power/kWh Total Loss Factor Total without GST Service Charge | 200 200 105,061 105,061 100,000 1 1 1 200 200 200 200 103,130 103,130 100,000 | \$0.0000 \$4.4684 \$0.0532 \$0.0000 \$0.00000 1.0506 \$274.3300 \$0.8076 \$0.0000 \$0.0000 \$0.0000 \$0.0000 \$0.0000 \$1.0313 | \$0.00 \$893.69 \$5,592.03 \$0.00 \$7.001.99 \$274.33 \$161.51 \$0.00 \$1,396.44 \$4,605.16 \$0.00 \$0.00 | Network Charge Connection Charge Electricity Charge Wholesale Market Charge Debt Retirement Charge Total Loss Factor Total without GST Service Charge Distribution Charge Regulatory Asset Rate Rider Network Charge Connection Charge Electricity Charge Wholesale Market Charge Debt Retirement Charge Total Loss Factor | 200 200 106,389 106,389 100,000 100,000 200 200 200 200 103,926 103,926 | \$2,2720 \$1,9763 \$0,0584 \$0,0062 \$0,00700 1,0639 \$14,214 -\$0,3898 \$2,1855 \$0,9808 \$0,0584 \$0,0062 \$0,00700 | \$454.40 \$395.26 \$6,213.11 \$659.61 \$700.00 \$9,403.38 \$319.55 \$284.28 -\$77.96 \$437.10 \$196.16 \$6,069.25 \$644.34 \$700.00 | \$454.40 -\$498.43 \$621.09 \$659.61 \$700.00 \$2,401.38 \$45.22 \$122.77 -\$77.96 \$437.10 -\$1,200.28 \$1,464.09 \$644.34 \$700.00 | |
| Richmond Hill Gen | on TOU (< 1500 kW) 10 kW and 100,000 kWh eneral Service > 50 kW on TOU (< 1500 kW) | Cost of Power/kWh Total Loss Factor Total without GST Service Charge Distribution Charge Cost of Power/kW Cost of Power/kWh Total Loss Factor Total without GST Service Charge | 200 105,061 105,061 100,000 11 200 200 200 200 103,130 103,130 100,000 | \$4.4684 \$0.0532 \$0.0000 \$0.0000 1.0506 \$274.3300 \$0.8076 \$0.0000 \$0.0000 \$0.0000 \$0.0000 1.0313 | \$893.69 \$5,592.03 \$0.00 \$7,001.99 \$274.33 \$161.51 \$0.00 \$1,396.44 \$4,605.16 \$0.00 \$0.00 | Connection Charge Electricity Charge Debt Retirement Charge Debt Retirement Charge Total Loss Factor Total without GST Service Charge Distribution Charge Regulatory Asset Rate Rider Network Charge Connection Charge Electricity Charge Wholesale Market Charge Debt Retirement Charge Total Loss Factor | 200 106,389 100,000 100,000 1 200 200 200 200 103,926 103,926 | \$1,9763 \$0.0584 \$0.0062 \$0.00700 1.0639 \$319.5500 \$1.4214 -\$0.3898 \$2,1855 \$0.9808 \$0.0584 \$0.0062 \$0.00700 | \$395.26 \$6,213.11 \$659.61 \$700.00 \$9,403.38 \$319.55 \$284.28 -\$77.96 \$437.10 \$196.16 \$6,069.25 \$644.34 | -\$498.43 \$621.09 \$659.61 \$700.00 \$2,401.38 \$45.22 \$122.77 -\$77.96 \$437.10 -\$1,200.28 \$1,464.09 \$644.34 \$700.00 | |
| Richmond Hill Gen | on TOU (< 1500 kW) 10 kW and 100,000 kWh eneral Service > 50 kW on TOU (< 1500 kW) | Cost of Power/kWh Total Loss Factor Total without GST Service Charge Distribution Charge Cost of Power/kW Cost of Power/kWh Total Loss Factor Total without GST Service Charge | 105,061 105,061 100,000 1 1 200 200 200 103,130 103,130 100,000 | \$0.0532 \$0.0000 \$0.0000 1.0506 \$274.3300 \$0.8076 \$0.0000 \$0.0000 \$0.0000 \$0.0000 \$0.0000 1.0313 | \$5,592.03 \$0.00 \$0.00 \$7,001.99 \$274.33 \$161.51 \$0.00 \$1.396.44 \$4,605.16 \$0.00 \$0.00 \$0.00 | Electricity Charge Wholesale Market Charge Debt Retirement Charge Total Loss Factor Total without GST Service Charge Distribution Charge Regulatory Asset Rate Rider Network Charge Connection Charge Electricity Charge Wholesale Market Charge Debt Retirement Charge Total Loss Factor | 106,389 106,389 100,000 1 1 200 200 200 200 103,926 103,926 | \$0.0584 \$0.0062 \$0.00700 1.0639 \$319.5500 \$1.4214 -50.3898 \$2.1855 \$0.9808 \$0.0584 \$0.0062 \$0.00700 | \$6,213.11 \$659.61 \$700.00 \$9,403.38 \$319.55 \$284.28 -\$77.96 \$437.10 \$196.16 \$6,069.25 \$644.34 \$700.00 | \$621.09 \$659.61 \$700.00 \$2,401.38 \$45.22 \$122.77 \$77.96 \$437.10 \$1,200.28 \$1,464.09 \$644.34 \$700.00 | |
| Richmond Hill Gen | on TOU (< 1500 kW) 10 kW and 100,000 kWh eneral Service > 50 kW on TOU (< 1500 kW) | Total Loss Factor Total without GST Service Charge Distribution Charge Cost of Power/kW Cost of Power/kWh Total Loss Factor Total without GST Service Charge | 105,061 100,000 1 1 200 200 200 200 103,130 103,130 100,000 | \$0.0000 \$0.0000 1.0506 \$274.3300 \$0.8076 \$0.0000 \$0.0000 \$0.0000 \$0.0000 \$0.0000 1.0313 | \$0.00 \$0.00 \$7.001.99 \$274.33 \$161.51 \$0.00 \$0.00 \$1,396.44 \$4,605.16 \$0.00 \$0.00 | Wholesale Market Charge Debt Retirement Charge Total Loss Factor Total without GST Service Charge Distribution Charge Regulatory Asset Rate Rider Network Charge Connection Charge Electricity Charge Wholesale Market Charge Debt Retirement Charge Total Loss Factor | 106,389 100,000 1 1 200 200 200 200 103,926 103,926 | \$0.0062 \$0.00700 1.0639 \$319.5500 \$1.4214 -\$0.3898 \$2.1855 \$0.9808 \$0.0584 \$0.0062 \$0.00700 | \$659.61 \$700.00 \$9,403.38 \$319.55 \$284.28 -\$77.96 \$437.10 \$196.16 \$6,069.25 \$644.34 \$700.00 | \$659.61 \$700.00 \$2,401.38 \$45.22 \$122.77 -\$77.96 \$437.10 -\$1,200.28 \$1,464.09 \$644.34 \$700.00 | |
| Richmond Hill Gen | on TOU (< 1500 kW) 10 kW and 100,000 kWh eneral Service > 50 kW on TOU (< 1500 kW) | Total without GST Service Charge Distribution Charge Cost of Power/kW Cost of Power/kWh Total Loss Factor Total without GST Service Charge | 100,000 1 1 200 200 200 103,130 103,130 100,000 | \$0.00000 1.0506 \$274.3300 \$0.8076 \$0.0000 \$0.0000 \$6.9822 \$0.0447 \$0.0000 \$1.0313 | \$0.00 \$7,001.99 \$274.33 \$161.51 \$0.00 \$0.00 \$1,396.44 \$4,605.16 \$0.00 \$0.00 | Debt Retirement Charge Total Loss Factor Total without GST Service Charge Distribution Charge Regulatory Asset Rate Rider Network Charge Connection Charge Electricity Charge Wholesale Market Charge Debt Retirement Charge | 100,000 1 200 200 200 200 103,926 103,926 | \$0.00700 1.0639 \$319.5500 \$1.4214 -\$0.3898 \$2.1855 \$0.9808 \$0.0584 \$0.0062 \$0.00700 | \$700.00 \$9,403.38 \$319.55 \$284.28 -\$77.96 \$437.10 \$196.16 \$6,069.25 \$644.34 \$700.00 | \$700.00 \$2,401.38 \$45.22 \$122.77 -\$77.96 \$437.10 -\$1,200.28 \$1,464.09 \$644.34 \$700.00 | |
| Richmond Hill Gen | on TOU (< 1500 kW) 10 kW and 100,000 kWh eneral Service > 50 kW on TOU (< 1500 kW) | Total without GST Service Charge Distribution Charge Cost of Power/kW Cost of Power/kWh Total Loss Factor Total without GST Service Charge | 1 200 200 200 200 103,130 103,130 100,000 | 1.0506 \$274.3300 \$0.8076 \$0.0000 \$0.0000 \$6.9822 \$0.0447 \$0.0000 1.0313 | \$7,001.99 \$274.33 \$161.51 \$0.00 \$1.396.44 \$4,605.16 \$0.00 \$6.437.44 | Total Loss Factor Total without GST Service Charge Distribution Charge Regulatory Asset Rate Rider Network Charge Connection Charge Electricity Charge Wholesale Market Charge Debt Retirement Charge Total Loss Factor | 1 200 200 200 200 200 103,926 103,926 | 1.0639 \$319.5500 \$1.4214 -\$0.3898 \$2.1855 \$0.9808 \$0.0584 \$0.0062 \$0.00700 | \$9,403.38 \$319.55 \$284.28 -\$77.96 \$437.10 \$196.16 \$6,069.25 \$644.34 \$700.00 | \$2,401.38 \$45.22 \$122.77 -\$77.96 \$437.10 -\$1,200.28 \$1,464.09 \$644.34 \$700.00 | |
| Richmond Hill Gen | on TOU (< 1500 kW) 10 kW and 100,000 kWh eneral Service > 50 kW on TOU (< 1500 kW) | Total without GST Service Charge Distribution Charge Cost of Power/kW Cost of Power/kWh Total Loss Factor Total without GST Service Charge | 200 200 200 103,130 103,130 100,000 | \$274.3300 \$0.8076 \$0.0000 \$0.0000 \$6.9822 \$0.0447 \$0.0000 \$1.0313 | \$274.33 \$161.51 \$0.00 \$0.00 \$1,396.44 \$4,605.16 \$0.00 \$0.00 | Total without GST Service Charge Distribution Charge Regulatory Asset Rate Rider Network Charge Connection Charge Electricity Charge Wholesale Market Charge Debt Retirement Charge Total Loss Factor | 200 200 200 103,926 103,926 | \$319.5500 \$1.4214 -\$0.3898 \$2.1855 \$0.9808 \$0.0584 \$0.0062 \$0.00700 | \$319.55 \$284.28 -77.96 \$437.10 \$196.16 \$6,069.25 \$644.34 \$700.00 | \$45.22 \$122.77 -\$77.96 \$437.10 -\$1,200.28 \$1,464.09 \$644.34 \$700.00 | |
| Richmond Hill Gen | on TOU (< 1500 kW) 10 kW and 100,000 kWh eneral Service > 50 kW on TOU (< 1500 kW) | Service Charge Distribution Charge Cost of Power/kW Cost of Power/kWh Total Loss Factor Total without GST Service Charge | 200 200 200 103,130 103,130 100,000 | \$0.8076 \$0.0000 \$0.0000 \$6.9822 \$0.0447 \$0.0000 \$0.00000 1.0313 | \$274.33 \$161.51 \$0.00 \$0.00 \$1,396.44 \$4,605.16 \$0.00 \$0.00 | Service Charge Distribution Charge Regulatory Asset Rate Rider Network Charge Connection Charge Electricity Charge Wholesale Market Charge Debt Retirement Charge Total Loss Factor | 200 200 200 103,926 103,926 | \$1.4214 -\$0.3898 \$2.1855 \$0.9808 \$0.0584 \$0.0062 \$0.00700 | \$319.55 \$284.28 -77.96 \$437.10 \$196.16 \$6,069.25 \$644.34 \$700.00 | \$45.22 \$122.77 -\$77.96 \$437.10 -\$1,200.28 \$1,464.09 \$644.34 \$700.00 | |
| Richmond Hill Gen | on TOU (< 1500 kW) 10 kW and 100,000 kWh eneral Service > 50 kW on TOU (< 1500 kW) | Distribution Charge Cost of Power/kW Cost of Power/kWh Total Loss Factor Total without GST Service Charge | 200 200 200 103,130 103,130 100,000 | \$0.8076 \$0.0000 \$0.0000 \$6.9822 \$0.0447 \$0.0000 \$0.00000 1.0313 | \$161.51 \$0.00 \$0.00 \$1,396.44 \$4,605.16 \$0.00 \$0.00 | Distribution Charge Regulatory Asset Rate Rider Network Charge Connection Charge Electricity Charge Wholesale Market Charge Debt Retirement Charge Total Loss Factor | 200 200 200 103,926 103,926 | \$1.4214 -\$0.3898 \$2.1855 \$0.9808 \$0.0584 \$0.0062 \$0.00700 | \$284.28 -\$77.96 \$437.10 \$196.16 \$6,069.25 \$644.34 \$700.00 | \$122.77 -\$77.96 \$437.10 -\$1,200.28 \$1,464.09 \$644.34 \$700.00 | 33.2% |
| Richmond Hill Gen | 00 kW and 100,000 kWh eneral Service > 50 kW on TOU (< 1500 kW) | Cost of Power/kW Cost of Power/kWh Total Loss Factor Total without GST Service Charge | 200 200 200 103,130 103,130 100,000 | \$0.0000 \$0.0000 \$6.9822 \$0.0447 \$0.0000 \$0.00000 1.0313 | \$0.00 \$0.00 \$1,396.44 \$4,605.16 \$0.00 \$0.00 | Regulatory Asset Rate Rider Network Charge Connection Charge Electricity Charge Wholesale Market Charge Debt Retirement Charge Total Loss Factor | 200 200 200 103,926 103,926 | \$0.3898 \$2.1855 \$0.9808 \$0.0584 \$0.0062 \$0.00700 | -\$77.96 \$437.10 \$196.16 \$6,069.25 \$644.34 \$700.00 | -\$77.96 \$437.10 -\$1,200.28 \$1,464.09 \$644.34 \$700.00 | 33.2% |
| Richmond Hill Gen | eneral Service > 50 kW on TOU (< 1500 kW) | Cost of Power/kWh Total Loss Factor Total without GST Service Charge | 200 200 103,130 103,130 100,000 | \$0.0000 \$6.9822 \$0.0447 \$0.0000 \$0.00000 1.0313 | \$0.00 \$1,396.44 \$4,605.16 \$0.00 \$0.00 | Nework Charge Connection Charge Electricity Charge Wholesale Market Charge Debt Retirement Charge Total Loss Factor | 200 200 103,926 103,926 | \$2.1855 \$0.9808 \$0.0584 \$0.0062 \$0.00700 | \$437.10 \$196.16 \$6,069.25 \$644.34 \$700.00 | \$437.10 -\$1,200.28 \$1,464.09 \$644.34 \$700.00 | 33.2% |
| Hill Gen- | on TOU (< 1500 kW) | Cost of Power/kWh Total Loss Factor Total without GST Service Charge | 200 103,130 103,130 100,000 | \$6.9822 \$0.0447 \$0.0000 \$0.00000 1.0313 | \$1,396.44 \$4,605.16 \$0.00 \$0.00 \$6,437.44 | Connection Charge Electricity Charge Wholesale Market Charge Debt Retirement Charge Total Loss Factor | 200 103,926 103,926 | \$0.9808 \$0.0584 \$0.0062 \$0.00700 | \$196.16 \$6,069.25 \$644.34 \$700.00 | -\$1,200.28 \$1,464.09 \$644.34 \$700.00 | 33.2% |
| Hill Gen- | on TOU (< 1500 kW) | Cost of Power/kWh Total Loss Factor Total without GST Service Charge | 103,130 103,130 100,000 100,000 | \$0.0447 \$0.0000 \$0.00000 1.0313 \$251.4100 | \$4,605.16 \$0.00 \$0.00 \$6,437.44 | Electricity Charge Wholesale Market Charge Debt Retirement Charge Total Loss Factor | 103,926 103,926 | \$0.0584 \$0.0062 \$0.00700 | \$6,069.25 \$644.34 \$700.00 | \$1,464.09 \$644.34 \$700.00 | 33.2% |
| Hill Gen- | on TOU (< 1500 kW) | Total Loss Factor Total without GST Service Charge | 103,130 100,000 1 1 200 | \$0.0000 \$0.0000 1.0313 \$251.4100 | \$0.00 \$0.00 \$6,437.44 | Wholesale Market Charge Debt Retirement Charge Total Loss Factor | 103,926 | \$0.0062 \$0.00700 | \$644.34 \$700.00 | \$644.34 \$700.00 | 33.2% |
| Hill Gen- | on TOU (< 1500 kW) | Total without GST Service Charge | 100,000 1 200 | \$0.00000 1.0313 \$251.4100 | \$0.00 \$6,437.44 | Debt Retirement Charge Total Loss Factor | | \$0.00700 | \$700.00 | \$700.00 | 33.2% |
| Hill Gen- | on TOU (< 1500 kW) | Total without GST Service Charge | 1 200 | 1.0313 \$251.4100 | \$6,437.44 | Total Loss Factor | 100,000 | | · | | 33.2% |
| Hill Gen- | on TOU (< 1500 kW) | Total without GST Service Charge | | \$251.4100 | | | | 1.0393 | \$8,572.72 | \$2,135.28 | 33.2% |
| Hill Gen- | on TOU (< 1500 kW) | Service Charge | | | | Total without GST | | | \$8,572.72 | \$2,135.28 | 33.2% |
| Hill Gen- | on TOU (< 1500 kW) | | | | \$251.41 | I | 1 | | | | |
| non | on TOU (< 1500 kW) | | | | \$251.41 | 1 | | | 1. | | |
| | | Distribution Charge | | ¢2 110E | | Service Charge | 1 | \$293.8600 | \$293.86 | \$42.45 | |
| 200 | 00 kW and 100,000 kWh | | 200 | | | Distribution Charge | 200 | \$3.2175 | \$643.50 | \$221.41 | |
| | | 1 | | \$0.0000 | | Regulatory Asset Rate Rider | 200 | -\$0.0082 | -\$1.64 | -\$1.64 | |
| | | i l | 200 | \$0.0000 | \$0.00 | Network Charge | 200 | \$2.1855 | \$437.10 | \$437.10 | |
| | | Cost of Power/kW | 200 | \$6.3147 | \$1,262.95 | Connection Charge | 200 | \$0.9808 | \$196.16 | -\$1,066.79 | |
| 1 | | Cost of Power/kWh | 103,450 | \$0.0453 | | Electricity Charge | 103,926 | \$0.0584 | \$6,069.25 | \$1,387.09 | |
| | | | 103,450 | \$0.0000 | \$0.00 | Wholesale Market Charge | 103,926 | \$0.0062 | \$644.34 | \$644.34 | |
| | | | 100,000 | \$0.00000 | \$0.00 | Debt Retirement Charge | 100,000 | \$0.00700 | \$700.00 | \$700.00 | |
| | | Total Loss Factor | | 1.0345 | | Total Loss Factor | | 1.0393 | | | |
| | | Total without GST | | | \$6,618.61 | Total without GST | | | \$8,982.57 | \$2,363.96 | 35.7% |
| Vaughan Gen | eneral Service > 50 kW | Service Charge | 1 | \$263.1700 | \$263.17 | Service Charge | 1 | \$306.2900 | \$306.29 | \$43.12 | |
| non | on TOU (< 1500 kW) | Distribution Charge | 200 | \$1.8154 | \$363.07 | Distribution Charge | 200 | \$2.7831 | \$556.63 | \$193.56 | |
| 200 | 00 kW and 100,000 kWh | | 200 | \$0.0000 | \$0.00 | Regulatory Asset Rate Rider | 200 | -\$0.4488 | -\$89.76 | -\$89.76 | |
| | | | 200 | \$0.0000 | \$0.00 | Network Charge | 200 | \$2.1855 | \$437.10 | \$437.10 | |
| | | Cost of Power/kW | 200 | \$6.1104 | \$1,222.09 | Connection Charge | 200 | \$0.9808 | \$196.16 | -\$1,025.93 | |
| | | Cost of Power/kWh | 103,670 | \$0.0452 | \$4,682.64 | Electricity Charge | 103,926 | \$0.0584 | \$6,069.25 | \$1,386.61 | |
| | | | 103,670 | \$0.0000 | \$0.00 | Wholesale Market Charge | 103,926 | \$0.0062 | \$644.34 | \$644.34 | |
| | | | 100,000 | \$0.00000 | \$0.00 | Debt Retirement Charge | 100,000 | \$0.00700 | \$700.00 | \$700.00 | |
| | | Total Loss Factor | | 1.0367 | | Total Loss Factor | | 1.0393 | | | |
| | | Total without GST | | | \$6,530.97 | Total without GST | | | \$8,820.01 | \$2,289.04 | 35.0% |
| Markham Gen | eneral Service TOU | Service Charge | 1 | \$2,281.3900 | \$2,281.39 | Service Charge | 1 | \$2,711.0500 | \$2,711.05 | \$429.66 | |
| | kW 1500 < 5000 kW) | Distribution Charge | 2,000 | \$0.7798 | | Distribution Charge | 2,000 | \$1.3467 | \$2,693.33 | \$1,133.79 | |
| | 000 kW and 800,000 kWh | Cost of Power/kW Winter | 1,000 | \$9.4967 | | Regulatory Asset Rate Rider | 2,000 | -\$0.9205 | -\$1,841.00 | -\$11,337.73 | |
| -, | | Cost of Power/kW Summer | 1,000 | \$6.9332 | | Network Charge | 2,000 | \$2.3211 | \$4,642.20 | -\$2,291.01 | |
| | | Cost of Power/kWh Winter On | 210,121 | \$0.0625 | | Connection Charge | 2,000 | \$1.0751 | \$2,150.20 | -\$10,987.40 | |
| 1 | | Cost of Power/kWh Winter Off | 210,121 | \$0.0344 | | Electricity Charge | 831,405 | \$0.0584 | \$48,554.03 | \$41,327.27 | |
| | | Cost of Power/kWh Summer On | 210,121 | \$0.0516 | | Wholesale Market Charge | 831,405 | \$0.0062 | \$5,154.71 | -\$5,696.22 | |
| | | Cost of Power/kWh Summer Off | 210,121 | \$0.02361 | | Debt Retirement Charge | 800,000 | \$0.00700 | \$5,600.00 | \$638.34 | |
| 1 | | Total Loss Factor | 2.3,121 | 1.0506 | ψ.,551.00 | Total Loss Factor | 555,500 | 1.0393 | ψ3,300.00 | Ψ530.04 | |
| | | Total without GST | | 5000 | \$56,447.82 | Total without GST | | | \$69,664.52 | \$13,216.69 | 23.4% |
| Vaughan Larg | arge User | Service Charge | 1 | \$7,009.0300 | | Service Charge | 1 | \$8,130.2800 | \$8,130.28 | \$1,121.25 | |
| | 000 kW and 2,000,000 kWh | Distribution Charge | 6,000 | \$0.7742 | | Distribution Charge | 6,000 | \$1.1694 | \$7,016.19 | \$2,371.22 | |
| | | Cost of Power/kW Winter | 3,000 | \$10.3094 | | Regulatory Asset Rate Rider | 6,000 | -\$0.9271 | -\$5,562.60 | -\$36,490.89 | |
| 1 | | Cost of Power/kW Summer | 3,000 | \$7.4156 | | Network Charge | 6,000 | \$2.5701 | \$15,420.60 | -\$6,826.27 | |
| 1 | | Cost of Power/kWh Winter On | 507,250 | \$0.0615 | | Connection Charge | 6,000 | \$1.2295 | \$7,377.00 | -\$23,823.44 | |
| 1 | | Cost of Power/kWh Winter Off | 507,250 | \$0.0338 | | Electricity Charge | 2,029,000 | \$0.0584 | \$118,493.60 | \$101,330.80 | |
| l l | | Cost of Power/kWh Summer On | 507,250 | \$0.0508 | | Wholesale Market Charge | 2,029,000 | \$0.0062 | \$12,579.80 | -\$13,190.02 | |
| l l | | Cost of Power/kWh Summer Off | 507,250 | \$0.02323 | | Debt Retirement Charge | 2,000,000 | \$0.0002 | \$14,000.00 | \$2,216.58 | |
| l l | | Total Loss Factor | 337,230 | 1.0145 | ψ11,733.42 | Total Loss Factor | 2,000,000 | 1.0145 | Ψ1,000.00 | Ψ2,210.00 | |
| | | Total without GST | l | 1.0143 | \$150 745 64 | Total without GST | | 1.0143 | \$177.454.87 | \$26,709.22 | 17.7% |

This document was created with Win2PDF available at http://www.daneprairie.com. The unregistered version of Win2PDF is for evaluation or non-commercial use only.